
1) (-520) ÷ (-26)

Answer: ____________

2) Find the mean of the following set of data:

39, 3, 40

Answer: ____________

3) 197/20 ÷ 155/7

Answer: ____________

4)
30

Volume of Cone 
28

Answer: ____________

5) Find area of triangle 
s = 471 cm

Answer: ____________

6) Find area of triangle 
s = 471 cm

Answer: ____________

7) Find perimeter of 
square having each side 
(s) equals 605 m

Answer: ____________

8) 460 ÷ 23

Answer: ____________

9) A number was shared in the ratio 
14:22. The smaller share was 21. 
What was the larger amount?

Answer: ____________

10) A number was shared in the ratio 
14:22. The smaller share was 21. 
What was the larger amount?

Answer: ____________

11)
Find the next three numbers in 
the sequence
36,32,48,44,60,56,72__,__,__

Answer: ____________

12) Find perimeter of 
triangle
h = 195 , a = 233 in,
b = 317 in, c = 
918in

Answer: ____________

13) 908 - 416

Answer: ____________

14) 11 + 17 x 20 ÷ 7

Answer: ____________

15) 11/8 + 5/4

Answer: ____________
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16) Simplify 1:29

Answer: ____________

17) Find the percentage change from 3 to 
91.8

Answer: ____________

18) Find area of triangle
h = 777 ft, a = 981 
ft,
b = 998 ft, c = 1000 
ft

Answer: ____________

19) Convert the following fraction into a 
mixed number: 39/5

Answer: ____________

20) 439 - 369

Answer: ____________

21) Increase 116 by 1/29

Answer: ____________

22) 455 - 303

Answer: ____________

23)
21  Find Volume of 
                         Hexagonal Pyramid 

20
20

Answer: ____________

24)
30  Find Volume of 
               28       Cylinder 

Answer: ____________

25) Find area of square 
having each side (s)
equals 548 ft

Answer: ____________

26) 4/
4 ÷ 17

/8

Answer: ____________

27) 517.8 - 178.2

Answer: ____________

28) 198.75 ÷ 26.5

Answer: ____________

29) 11 x (-23)

Answer: ____________

30) Increase 10 by 3/5

Answer: ____________
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31) Find area of 
triangle s = 528 cm

Answer: ____________

32) 6/85 of 170

Answer: ____________

33) 24% of 26

Answer: ____________

34)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

35) Find the percentage change from 1 to 
22.7

Answer: ____________

36) Find area of 
rectangle having 
sides a = 959 in 
and b = 891 in

Answer: ____________

37) 24 x 100

Answer: ____________

38) Round 11.28 to the nearest 100

Answer: ____________

39) 05:49 am To 11:26 am

Answer: ____________

40) 05:49 am To 11:26 am

Answer: ____________

41) Find the mean of the following set of data:

27, 26

Answer: ____________

42) Find perimeter of 
rectangle having 
sides a = 630 cm 
and b = 371 cm

Answer: ____________

43) 870 + 388

Answer: ____________

44) Find area of triangle
h = 783 in, a = 870 
in,
b = 906 in, c = 931 
in

Answer: ____________

45) 487 + 887

Answer: ____________
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46) Find the mean of the following set of data:

34, 39, 2, 0.1

Answer: ____________

47) 1/93 of 186

Answer: ____________

48)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

49) 438 - (-545)

Answer: ____________

50) 'What is the probability of rolling a 
number less than 1.when rolling a 
dice

Answer: ____________

51) 114/18 ÷ 27/8

Answer: ____________

52)

A B = 47
Find the Angle at side A.

Answer: ____________

53)
30  Find Volume of 
               23       Cylinder 

Answer: ____________

54) Find perimeter of 
square having each 
side (s) equals 402 in

Answer: ____________

55) 210 ÷ 10

Answer: ____________

56) Find the mode of the following set of data:

32, 32, 32, 32, 32, 32, 94, 94, 94, 
94, 94, 94, 56, 56, 56

Answer: ____________

57) 2/1 - 7/19

Answer: ____________

58) 16 x 10

Answer: ____________

59) 113.05 ÷ 13.3

Answer: ____________

60) b

a o c
Measure angle boa 

Answer: ____________
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61) 17   3/17 - 10   1/11

Answer: ____________

62) 3500 ÷ 100

Answer: ____________

63) Convert the following improper 
fraction 137/14 + 45/14 into a mixed 
number

Answer: ____________

64) 1/89 of 178

Answer: ____________

65) 4/55 of 275

Answer: ____________

66) 9   4/16 - 17   1/2

Answer: ____________

67) b

a o c
Measure angle boa 

Answer: ____________

68) Simplify 46:2

Answer: ____________

69) Convert the following mixed number 
1315/12 into an improper fraction.

Answer: ____________

70) 810 ÷ 30

Answer: ____________

71) 810 ÷ 30

Answer: ____________

72) 10 x 1000

Answer: ____________

73) Find perimeter of 
rectangle having 
sides a = 926 in 
and b = 584 in

Answer: ____________

74) Find perimeter of 
rectangle having 
sides a = 926 in 
and b = 584 in

Answer: ____________

75) Find area of square 
having each side (s)
equals 640 cm

Answer: ____________
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76) 413 + 344

Answer: ____________

77) Round 26.94 to 1 decimal places.

Answer: ____________

78) 02:33 am To 07:07 am

Answer: ____________

79) Round 21.7814 to 1 decimal places.

Answer: ____________

80) 4 + 11 - 16 + 18

Answer: ____________

81) 42 x 9 x 10 ÷ 19

Answer: ____________

82)
28  Find Volume of 
               28       Cylinder 

Answer: ____________

83) Round 23.317 to the nearest 10000

Answer: ____________

84) Find the range of the following set of data:

0.4, 0.5, -2, 15, 10, 20

Answer: ____________

85) 09:09 am To 04:09 pm

Answer: ____________

86) 27.1 x 13.7

Answer: ____________

87) 27.1 x 13.7

Answer: ____________

88)

A B = 44
Find the Angle at side A.

Answer: ____________

89) Find the median of the following set of data:

22, 11, 23, 8, 38, 4, 23, 2, 18, 27, 
39, 34, 30, 24

Answer: ____________

90) 08:02 am To 02:01 pm

Answer: ____________
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91) An amount was increased by 4.7% to 
$375.77. Find the original amount.

Answer: ____________

92)

A = 34  B
Find the Angle at side B.

Answer: ____________

93) 552 ÷ 23

Answer: ____________

94) b

a o c
Measure angle boa 

Answer: ____________

95) (3 x 2 x 3) x 14

Answer: ____________

96) 813.6 - 778.4

Answer: ____________

97) 929 + 837

Answer: ____________

98) 606 + 244

Answer: ____________

99) (-501) - (-117)

Answer: ____________

100) An amount was decreased by 3% to 
$339.00. Find the original amount.

Answer: ____________

Total: ___ / 100
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Answers:

1) 20 2) 27.33 3) 1509/2200 4) 24630.086404144 5) 96059.970800472cm 6) 96059.970800472cm 7) 2420m

8) 20 9) 33 10) 33 11) 68,84,80, 12) 1468in 13) 492 14)

15) 25/8 16) 1 : 29 17) 2960% 18) 387723ft 19) 74/5 20) 70 21) 120

22) 152 23) 7274.6133917893 24) 18472.564803108 25) 300304ft 26) 8/17 27) 339.6 28) 7.5

29) 30) 16 31) 120717.01308432cm 32) 12 33) 6.24 34) 13,21,34, 35) 2170%

36) 854469in 37) 2400 38) 11.28 39) 05 Hours 37 Mins 40) 05 Hours 37 Mins 41) 26.5 42) 2002cm

43) 1258 44) 354699in 45) 1374 46) 18.78 47) 2 48) 13,21,34, 49) 983

50) 0/1 51) 3187/207 52) 133 53) 12464.268853118 54) 1608in 55) 21 56) 32

57) 112/19 58) 160 59) 8.5 60) 123 61) 716/187 62) 35 63) 176/7

64) 2 65) 20 66) 161/4 67) 110 68) 23 : 1 69) 57/4 70) 27

71) 27 72) 10000 73) 3020in 74) 3020in 75) 409600cm 76) 757 77) 26.9

78) 04 Hours 
34 Mins

79) 21.8 80) 17 81) 82) 68964.241931603 83) 23.317 84) 22

85) 07 Hours 
00 Mins

86) 371.27 87) 371.27 88) 136 89) 12.5 90) 05 Hours 59 Mins 91) $358.90

92) 146 93) 24 94) 150 95) 96) 35.2 97) 1766 98) 850

99) -384 100) $328.83

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 11, 2022

Sr: 11102022-2867

 

http://www.geekschool.co.uk

